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1. BEBBOE
(1) ¥EINEE
EAKBEERT 500 )|( 500 )|( 0)
HABMEZIRFE 500 500 0
BEREERT 120 )|( 120 0)
BEEEZIFER 120 120 0
SMEE 3,860,000 ) |( 3,412,500 )|( 447,500 )
ESEZWMEE 3,653,000 3,255,000 398,000
EWEEZNRE 207,000 157,500 49,500
BRI 81,000 )|( 110,000 )|( A 29,000 )
HHEE E U 12,000 12,000 0
[GERE FE U 40,000 40,000 0
BEAHEESEEINE 9,000 8,000 1,000
SEHBEFEINE 30,000 A 30,000
& EZE U 20,000 20,000 0
SMABEF 5,703,180 )|( 5,725,820 )|( A 22,640 )
SREEEHEE 352,480 366,020 A 13,540
SREEEMRE 350,000 350,000 0
SMEREMREIREEE 4,523,700 4,462,800 60,900
AR ERF R ERIE 477,000 547,000 A 70,000
ZMEHEE 147,000 )|( 166,000 )|( A 19,000 )
THEEE 0 0 0
BE-XHHEZNEES 147,000 166,000 A 19,000
PN SR 236,030 ) |( 400,030 )|( A 164,000 )
ZEHFER 30 30 0
MU AR 236,000 400,000 A 164,000
€ 3dVENS Y 10,027,830 9,814,970 212,860
2 BEER
=EXE 7,711,790 ][ 7,981,334 ]|[ A 269,544 ]
(BABOEREFBEMETHERX) 177,060 )|( 114,510 )|( 62,550 )
REXEE 25,680 19,680 6,000
BIEERE 97,000 74,340 22,660
HERE 14,850 14,850 0
R A E 37,200 5,200 32,000
RI5E 2,000 0 2,000
XILFHF 330 440 A 110
(MBREROEHZENETHEE) 267,000 )|( 294,680 )|( A 27,680 )
WREXBE 10,340 7,340 3,000
BIEERE 150,000 150,000 0
HERE 70,500 87,900 A 17,400
FRI&AE 23,000 43,000 A 20,000
=i5E 2,500 2,500 0
LEERE 0 3,500 A 3,500
XiILEEE 10,000 0 10,000
XIF 660 440 220
(B RUBBICET2AEARLCICRS ICHATIES) 253,230 ) |( 317,900 )|( A 64,670 )
WREXEE 224,680 234,680 A 10,000
XiLBEE 28,000 83,000 A 55,000
XIFEH 550 220 330
(EtEORBRLELREICETHEX) 466,320 )|( 474,736 )|( A 8,416 )
WREXBE 50,000 80,000 A 30,000
BIEERE 207,480 146,496 60,984
R A E 9,600 4,000 5,600
B 80,000 125,000 A 45,000
RRE 118,800 118,800 0
=i5E 0 0 0
TIFEH 440 440 0
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(HEHE~OEBREZENETHEHE) ( 159,064 )|( 210,592 )|( A 51,528 )
BIEERE 8,064 7,392 672
HERE 41,000 43,200 A 2,200
XiLBEE 10,000 10,000 0
XILFfTE 100,000 150,000 A 50,000
(EREDXFRELLBEDEINELEFICETHEE) ( 496,560 )|( 478,160 )|( 18,400 )
E=% 277,500 240,500 37,000
WREXBE 142,000 160,600 A 18,600
BIEERE 3,000 3,000 0
HERE 40,000 40,000 0
R A E 8,400 8,400 0
X EEE 20,000 20,000 0
=i5E 5,000 5,000 0
TIFEH 660 660 0
(SEEAXESRE) ( 49,480 )|( 49,480 )|( 0)
E=3] 30,000 30,000 0
=i5E 1,800 1,800 0
WREXBE 14,680 14,680 0
FRIEAE 3,000 3,000 0
WHFS 3,775,680 4,027,680 A 252,000
BB HER 180,000 135,000 45,000
BIELE 504,000 504,000 0
EBERRE 81,000 81,000 0
BIEERE 180,000 180,000 0
HERE 45,000 45,000 0
R A E 163,500 156,500 7,000
B E 63,000 63,000 0
88 732,564 732,564 0
1)—R% 64,152 64,152 0
R 1,440 1,440 0
AR 540 540 0
ERPERE 7,200 5,400 1,800
XILFHR 45,000 45,000 0
EEHE [ 1,821,484 1|[ 1,803,784 1|[ 17,700 ]
HBHEFH 419,520 447,520 A 28,000
BB E R 20,000 15,000 5,000
BEIELEE 56,000 56,000 0
EBRRE 9,000 9,000 0
E=3] 207,500 175,000 32,500
WREXBRE 218,000 218,000 0
BIEERE 178,070 183,070 A 5,000
HERE 9,000 9,000 0
R AE 86,500 76,500 10,000
FLENIKH B 7,000 7,000 0
558 81,396 81,396 0
Ri=F 160 160 0
)—Z % 7,128 7,128 0
HeE 125,000 125,000 0
FEMROE 60 60 0
bR N=Fi:k 228,000 228,000 0
RRE 63,000 54,000 9,000
=i5E 32,600 28,600 4,000
BNEFE 30,000 30,000 0
REE 20,000 30,000 A 10,000
EERE 800 600 200
XIF 22,750 22,750 0
(BEEAH] 9,533,274 9,785,118 A 251,844
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EANR.ERBRRUEER 0 0 0
(&3 — A IERRBA EE 1 28 ) 494,556 29,852 464,704
(—ERMEREES] 13,755,076 A 13,755,076
(— R ERE ERRES] 13,784,928 A 13,784,928
I $85FIERKBIEE R O
THEREE 4,523,700 4,492 600 31,100
TMEEENRE 4,523,700 4,492 600 31,100
— AR IERRBAEEA~ DIRE%E A 4523700 A 4,492 600 A 31,100
— AR IERRBAEEA~ DIRE4E A 4523700 A 4,492 600 A 31,100
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